
Subject: size of usersym symbols
Posted by haskell on Thu, 27 Feb 1997 08:00:00 GMT
View Forum Message <> Reply to Message

does anyone know how to 'calibrate' the size of usersym symbols?

the manuals state that the dimensions used in the usersym call are approximately the size of
character size units but that does not seem to be the case for me.

for example:

x=indgen(3)
usersym,[0,0,1,1,0],[0,1,1,0,0]   ; trying to make a box with a height of one char
plot,x,x,psym=8
xyouts,x,x,' X'

the square produced by usersym is less than half the height of the 'X' that is placed next to it.  it
appears this way both on the screen and in postscript plots.

i am running version 4.0.1 on a sunos unix system.

i would like to produce symbols that are the same size as characters produced with the xyouts call
without using trial and error.  does anybody have any suggestions?

cheers,
eddie
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